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0248 20iloF LESIH Aot AIE A
FA: Aot AIE A
B ABAE U ShAlae
B A=k Al 22 (Che 2l
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Aot=EAI A 34,428,529 17,348,116 17,080,413
= 12,562,000
== 10,550,998
[Ea 11,315,531
oot & BERAlE2 13,644,097 8,812,509 4,831,588
= 9,677,598
Ea 3,966,499
a Al 2 13,552,008 8,700,531 4,851,477
=S 9,677,598
s 3,874,410
A2 EEAE I 495,850 495,850 0
201 et 3| 1,050 1,080
01 Al 2218 1,050 1,050
om=| 1,080
“MaE 2= 1=
350,000 3 1,050
202 04t 9,300 9,300
01 =LHOHI 9,300 9,300
OARDEEAIL Alape| 25X
20,0002 x32+82 x102] 4,800
O=1ta A2 =8
100,000 x32 32 +52] 4,500
206 M=l 20,000 20,000
01 MHZH| 20,000 20,000
OAR2EAd 2SSAE (KRS
gh) 100,000 *20021 20,000
401 AlZHIZ S OHYI 465,500 465,500
01 A28l 465,500 465,500
OanZeEAE ASHFFYI| €X
3,000,000& #54] 15,000
OAARSEZAIE JIt=2ANO0I| &X
7,500,000 +541 37,500
OAREEEAE H=AMAHI| FXE=
] 1,100,000 *200H 2= 22,000
OanZ2eEAE =S2HEZ Wk
2,000,000 *304! 60,000
OARZ2TAIE =23 A
200,000 *10071 223 40,000
OAARsEAE SEMETAIAYE R
=8l 500,000 * 169K 2= 8,000
O4rR2+EAE Hbi+=Xl EHA
6,000,000 *37H 2= 18,000
OLm2AE 28 HEB
4,000,000 *57H 2~ 20,000
OAARsEAE S8 WA
35,000,000 *1IH £ 35,000




FA: Aot AIE A
B ABAE U ShAlae
B A=k Al 22 (Gt H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OLn2aEAlE 28 JHE SA
25,000,000 #40H 2 100,000
OanZaTAE 222 2S5 SA
2,000,000 354! 70,000
OAREFEZAE 2=SAE 2HEE 89
10,000,000 *43] 40,000
AR AE =EZA 86,300 115,400 229,100
201 er23 | 77,500 106,600 229,100
01 At2teltl 77,500 106,600 A29,100
(@)= st =l 76,300
A2 AE =E2ZA 76,300
o 100,000 *7 9K A 700
= 720,000& *1059H 2 75,600
o=zl 1,200
R CIR=CELS
8,000 x6& 25 1,200
206 T2l 8,800 8,800
01 2 8,800 8,800
OARBLEALE ASUHE 2Y
4,0003 %2, 200kg 8,800
LR CEHHIAY 573,000 458,000 115,000
401 Al HIZL 2018 573,000 458,000 115,000
01 Al&HI 573,000 458,000 115,000
OTZ H4T2Y SADE B
458,000,000 x 14 458,000
OM%T BHE & olmg 25
115,000,000 * 11 2 115,000
HEXNT SHELESSIHLAL (HEAIY) 2,516,429 1,081,142 1,435,287
< 1,987,889
s 528,540
401 Al HIZL 2018 2,516,429 1,081,142 1,435,287
= 1,987,889
= 528,540
01 Al&H| 1,995,865 837,250 1,158,615
O EXNT SHELESTIHE A
2,516,429,000& +79.31338/100 1,995,865
=S 1,576,662
s 419,203
02 22/l 520,564 240,000 280,564
OaEXT SHEUESTIHL AL
2,516,429,000% 20.6866/100 520,564
= 411,221
= 109,337
HAUX T SHEMSESIHLAIS (HEALY) 2,594,429 1,081,142 1,513,287
S 2,049,509




FA: Aot AIE A
B ABAE U ShAlae
B A=k Al 22 (Gt H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
[Ea 544,920
401 AIEHIX 20 2,594,429 1,081,142 1,513,287
=S 2,049,509
s 544,920
01 AlZ8| 2,073,865 837,250 1,236,615
OMAIXIT SOEMERSTHL AL
2,594,429,000& 79.9353/100 2,073,865
< 1,638,281
s 435,584
02 Zeltl 520,564 240,000 280,564
O&UIl+ SHEYESTINLAI
2,594, 429,000& *20.06468/100 520,564
= 411,228
o 109,336
SENT sHELESSIHLAL (HEAIY) 2,000,000 521,142 1,478,858
[ 1,580,000
T 420,000
401 Al HIZL 201 2,000,000 521,142 1,478,858
= 1,580,000
= 420,000
01 Al&H| 1,725,400 517,860 1,207,540
OFE X+ sHELESTINLAL
2,000,000,000&+86.27/100 1,725,400
= 1,363,066
o 362,334
02 2/l 270,000 0 270,000
OE2X T SHELESTIHL A
2,000,000,000&%13.5/100 270,000
S 213,300
= 56,700
03 A2 2 0HYI 4,600 3,282 1,318
OSEX T SHELESTIHE A
2,000,000,000& *0.23/100 4,600
=S 3,634
s 966
CEXNT sHELSSSHLAL (HEAIY) 2,000,000 537,142 1,462,858
< 1,580,000
T 420,000
401 Al HIZL 201 2,000,000 537,142 1,462,858
= 1,580,000
= 420,000
01 Al&HI 1,725,400 533,759 1,191,641
OZ8Al+ sHEYESTINLAI
2,000,000,000&+86.27/100 1,725,400




FA: Aot AIE A
B ABAE U ShAlae
B A=k Al 22 (Gt H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
< 1,363,066
s 362,334
02 Zeltl 270,000 0 270,000
OZENP SHEMHELHLA
2,000,000,000& *13.5/100 270,000
S 213,300
o 56,700
03 Al& = HHI 4,600 3,383 1,217
OZXT SOHEMHBLNLAY
2,000,000,000& *0.23/100 4,600
< 3,634
= 966
HEX T sHEMSESIHLAIS (HEALY) 2,000,000 417,142 1,582,858
= 1,580,000
o 420,000
401 AIZHIX 20HH 2,000,000 47,142 1,582,858
s 1,580,000
s 420,000
01 Al&HI 1,725,400 414,515 1,310,885
OHEX T SHELESTIHL A
2,000,000,000&%86.27/100 1,725,400
& 1,363,066
= 362,334
02 Zeltl 270,000 0 270,000
OHEXF sHEYESTINLAIL
2,000,000,000&+13.5/100 270,000
=S 213,300
s 56,700
03 Al 20HHI 4,600 2,627 1,973
OHEX T SHELESTIHL A
2,000,000,000& *0.23/100 4,600
= 3,634
= 966
N HASSY ASAS (HEAIY) 1,286,000 0 1,286,000
= 900,200
o 385,800
401 AlZHIZ SO 1,286,000 0 1,286,000
== 900,200
o 385,800
01 Al&HI 1,286,000 0 1,286,000
OXNgai=E HaEs2 AZAY
1,286,000,000& x14] 1,286,000
= 900,200
= 385,800




S ABIREAIYA
T MOAE U BhAlLRe
Chl: MGt 2t (EEEE))
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
ot 2t 92,089 111,978 19,889
aot=E2F 2t 92,089 111,978 19,889
101 @124H| 2,889 5,778 22,889
M IRINZZENSES 2,889 5,778 2,889
Oaot=Z AL =22 & M=HY 2
ale] 150,0002 x38 *3& x22] 2,700
OttiEg= 2,700,000 7% 189
201 2= 16,400 16,400
01 At22t2lt] 5,360 5,360
Oget=ZHI 2,000
- UCALKE tUE € S8 S8
= M= 500,000 x25+13] 1,000
-4 5 NS 83,3002 122 1,000
@r=] 3,360
-dol= s MEks d+ 254
8,000 7 *602 3,360
02 s5=34l 11,040 11,040 0
O332= % HAl 11,040
Aot ERE DM SQEYRSR
4003 2, 30001128 11,040
401 AIEHIZ SR 0HYI 72,800 87,000 14,200
01 Al&H| 72,800 87,000 14,200
Ot ANE 34 UHsdE 40| 2=,
WA 126,000 %3004 2= 37,800
OAE % JI&EH &4 § A& | 22l
] 15,000,000 * 14 15,000
OFE= dAARY & H=HUS 2B 2
HI(&g=+, ALIR S 500001 1%)
50,000& #4001 20,000
ot= 2| 16,466,8% 3,713,656 12,753,240
= 10,669,000
[ 873,400
T 4,924,49%6
ot 22l 16,466,8% 3,713,65% 12,753,240
= 10,669,000
== 873,400
o 4,924,49%6
OtSot=k =Al2el 454,355 419,590 34,765
101 e124d| 5,000 5,000 0
M ORINZZ2NSE S 5,000 5,000 0
OO0t=otxelAE ME=5Y 2 o
125,000& x22]*200H 2= 5,000
201 er2&| 209,300 236,840 N27,540
2 s5=34l 209,300 236,840 N27,540
0332 € AMAl 156,600




FA: Aot AIE A
M Glac ol
= e - EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
-0l S&otXeld Jie=s
270,000 #5104 A+ 100 & 137,700
-0t SHEZE dJI2s
75,0002 *2100 A+ 1200 2 18,900
OAlZ EHIs Xl 52,700
-OtSot=HelAE B2F S RAES 52,700
- B0E~400= 1,500,000 %179 2= 25,500
-50& 01et 800,000 *349H 2 27,200
202 04| 7,200 7,200
01 2LHA b 7,200 7,200
O0tS ot=Hcld 2dael &
0,000& »2E »180& 7,200
206 MH=HI 21,000 21,000
01 MHZH| 21,000 21,000
OOtSot=xelAld AEAE S 21,000
MBS U ARE S
70,0003 %255+ 120 21,000
401 AIEHIZL SR THY] 211,855 149,550 62,305
01 Al&HI 211,855 149,550 62,305
Ott=HMelAlE s=Xel JI=&HE00E 0/1e)
19,741,000& %1.1 21,716
Oot=HMelAl" o5 JI=TISHE00E 014)
50,535,000& *1.1 55,589
O=Hel JIs& el e HESAHE500E Ol
o) 90,000
-ME ALE sATR &X
40,000,000 * 124 40,000
ot BE CEADR MM
50,000,000& » 1A 50,000
Odt==HMelAlE s ASs2td 44,550
W= S wH 550,000 *410H 2 22,550
-2=2cl AE 5,500, 000& =2 A-*23] 22,000
St Rl 22l AHY 379,941 265,000 114,941
401 Al HIZ 2018 379,941 265,000 114,941
01 Al&H| 379,941 265,000 114,941
Oct=Z2(S4 2 41A) D=2
7,184,000& *14.545km*1. 1 114,941
Oot=2t JH=E 40,000
-Z2Eg 2 100HH 2,000,000 *20km 40,000
Odt=2t N a2+
3,000, 0002 +55JH £ 165,000
Oot=2t1 0|82 200,000 *300m 60,000
of==2tH BIL =AXl2tc 243,600 323,400 A\T9,800
201 fet=3| 3,600 3,400 200
01 AtR2t2|HI 3,600 3,400 200




FA: Aot AIE A
B Sl
&t o=k 2tel (EEEE))
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
O=g+g 3,600
2T ST BILAY ATEII9I™S
150,000 x6 S *42 | 3,600
307 @I2to| & 240,000 320,000 80,000
05 git?(& =S 240,000 320,000 280,000
OZ S4B BILAIY SIt2y)
80,000,000 *3= 7| 240,000
=S HIKGAIF OlSok+=E A 11,466,000 371,428 11,094,572
= 8,018,000
== 689,600
[Ea 2,758,400
401 AIEHIZ R 0HYI 11,466,000 371,428 11,004,572
= 8,018,000
=S 689,600
s 2,758,400
01 A28l 10,368,707 335,845 10,032,862
O=S HIXXI7 OtSot=X EHIALE
10,368, 707,000 10,368,707
= 7,269,939
S 625,481
o 2,473,287
02 22/l 1,068,658 34,65 1,034,002
O=2& HIXAI7 0tSot== EHIALY
1,068,658,000& 1,068,658
= 748,061
=S 64,119
s 256,478
03 Al 20HHI 28,635 927 27,708
O=2& HIXAI7 OtSot== EHIA
28,635,000 28,635
U+ MSX- OtSot== FHIALE 926,000 548,571 377,429
= 583,000
< 68,600
s 274,400
401 Al HIZL 01| 926,000 548,571 377,429
= 583,000
== 68,600
[Ea 274,400
01 Al&HI 836,734 495,689 341,045
OU+ MSX+ 0tSot== EHIAL
926,000,0002%90.36/100 836,734
= 528,337
== 62,180
o 246,217




FA: Aot AIE A
3 ot atel
= e - EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
02 Zeltl 86,766 51,402 35,364
O HEXT UISsi4E HHIA
926,000,000 *9.3699/100 86,766
= 54,663
< 6,420
T 25,683
03 Al 2CHYI 2,500 1,480 1,020
OU? HEXT 0IS5t4E HlAte)
926,000,000:& *0.2699/100 2,500
AE SHES2X 7 0Sot=S EHIAIY 1,566,000 691,000 875,000
= 1,096,000
= 94,000
[Ea 376,000
401 AIEHIX R0 1,566,000 691,000 875,000
= 1,096,000
S 94,000
= 376,000
01 Al&HI 1,415,038 621,900 793,138
OXE S&E+ X7 OtSotE FHIA
1,566,000,000& *90.36/100 1,415,038
= 993,286
& 85,196
= 336,556
02 Zeltl 146,734 67,718 79,016
Odld S&=2X7 0tSot=E FHIAY
1,566,000,000& *9.36998/100 146,734
= 102,714
= 8,804
= 35,216
03 Al 2 THHI 4,228 1,382 2,846
Odl™ S X7 0tSot=Z FHIA
1,566,000,0002 *0.26998/100 4,228
A MEXel27 o222 ZHIAIE 500,000 100,000 400,000
= 350,000
T 150,000
401 Al HIZL 201 500,000 100,000 400,000
= 350,000
= 150,000
01 Al&H| 461,350 92,270 369,080
OZ& MExcl2- ot=22 A
500,000,000&%92.27/100 461,350
= 323,750
o 137,600
02 2/l 37,500 7,500 30,000




FA: Aot AIE A
3 ot atel
= e - EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
O NEFHRIZT st=22 ZHIAe
500,000, 000& *7.5/100 37,500
= 26,250
Ea 11,250
03 AIESTHYI 1,180 230 920
OZd MEXcIE+ otr-22 FHIA
500,000,000& *0.23/100 1,180
Ote SSot=xcld SEA 209,000 588,000 A379,000
= 146,000
== 12,600
s 50,400
401 AIEHIZ SR OHYI 209,000 588,000 A379,000
= 146,000
= 12,600
o 50,400
01 A28l 188,853 531,317 A342,464
O0te SEoteXcld SEAM
209,000,0008%90.36/100 188,853
= 131,897
= 11,392
[Ea 45,564
02 Zeltl 19,583 55,09 A35,513
Oltg SSot=xld SEA
209,000,000 *9.3698/100 19,583
= 13,708
= 1,175
o 4,700
03 Al 20HHI 564 1,587 A1,023
Oltg SSot=Hcld SEA
209,000,000& *0.2698/100 564
= 3%
s 33
s 136
ANSAH OtSot=x ALY 143,000 100,000 43,000
= 100,000
=S 8,600
s 34,400
401 AIEHIZ SR OHYI 143,000 100,000 43,000
= 100,000
= 8,600
[Ea 34,400
01 A28l 129,215 100,000 29,215
OAlIZAE Dt=ote=T EBIAE
143,000,000& *90.36/100 129,215




FA: Aot AIE A
3 ot atel
&t o=k 2tel (EEEE))
RA - BE - SHAEH) - HRA - BAS ofl &t e DS
= 90,621
=S 7,653
s 30,941
02 22/l 13,399 0 13,39
OANSAH DISsi+E EHHIAL
143,000,000 *9.3699/100 13,399
= 9,379
== 804
o 3,216
03 A2 20HHI 386 0 386
ONSAE IIS8i+E EHIAL
143,000, 000 *0.2699/100 386
= 143
o 243
TS SHXMeI2T o222 ZHIAIE 293,000 106,667 186,333
= 176,000
= 117,000
401 AIEHIZ SR OHYI 293,000 106,667 186,333
= 176,000
T 117,000
01 A&l 293,000 106,667 186,333
ORE BANAST slaD2 FylA
293,000, 000& 100/100 293,000
= 176,000
= 117,000
g8 QeI ote2Z FHIAMY 143,000 100,000 43,000
= 100,000
s 43,000
401 Al HIZ R 0HbI 143,000 100,000 43,000
= 100,000
[Ea 43,000
01 A<l 142,630 100,000 42,630
ONT QUMIST slaD2 FYlA
143,000,000 *99.741/100 142,630
= 100,000
= 42,630
03 Al 2 THHI 370 0 370
O8d 2utxelE+ ot=22 FHIAY
143,000, 000& *0.2587/100 370
Ot AOtM2IE2+ o222 ZHIAY 143,000 100,000 43,000
= 100,000
T 43,000
401 Al HIZL 201 143,000 100,000 43,000
= 100,000




FA: Aot AIE A
B Sl
ctel ot 2l (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
[Ea 43,000
01 AlZ2H| 142,630 100,000 42,630
OO0 A0tx2IE+ ot-22 HBIAY
143,000,000 99.741/100 142,630
= 100,000
[Ea 42,630
03 Al 20HHI 370 0 370
Oltg A0t el2+ o222 JHIAY
143,000,000 *0.2587/100 370
HEE s (Aot A A) 4,204,000 4,707,000 /503,000
= 1,893,000
T 2,311,000
SHENE(LetaA) 2,704,000 2,707,000 23,000
= 1,893,000
= 811,000
Z&lok=2t01 BTIL2IHZ 2,704,000 2,707,000 23,000
= 1,893,000
Ea 811,000
311 XS0l Aratat 363,000 411,358 /58,358
= 247,200
o 105,800
03 LI FAHL S0kttt 363,000 411,358 A\58,358
O3 &lot==2HBIL &= OIkt
88,250,000& *4= 7| 363,000
= 247,200
Ea 105,800
601 Xt s akE 2,351,000 2,295,642 55,358
= 1,645,800
o 705,200
03 LI soe 2,351,000 2,295,642 55,358
OZ&lot=2HBIL SUHZE =
587,750,000 4= | 2,351,000
= 1,645,800
s 705,200
LIS HeH K= 1,500,000 2,000,000 A500,000
JIEI AN ES 1,500,000 2,000,000 A500,000
701 JIEtRI HSHES 1,500,000 2,000,000 A500,000
01 It AN ES 1,500,000 2,000,000 /500,000
Oot==S83H d&=
1,500,000,000& 1,500,000
HH2LIH(Yot =T A A) 113,536 114,951 1,415
|22 (o= Al ) 113,536 114,951 A1,415
JI2E8H(MR) 99,456 93,531 5,925
201 2= 91,176 89,251 1,925




A Aote=EAIE A
S HY2AAH|(AGIE=TAZA)
CHel: J|2gdl(AMol=EAIE A ) (SH9 H2)
SA - B GR(31) - HIRAY - BES il &k e HlmS2
01 ArR2eltl 42,260 40,335 1,925
OgBt==2H| 10,000
-FA2E SHAHL 10,000,000& 10,000
o284 28,920
RSy 60,0003 *1E*117 7,020
=& 60,0003 13652 21,900
O=gtl 3,340
-RA2E SHAHL 3,340,000& 3,340
02 23244l 48,916 48,916 0
O=2322 ¥ HAl 26,000
4ot R23 20,000,000& 20,000
-REURS 3,000,000& 3,000
-J|Et 3,000,000& 3,000
OAE IR X 19,236
-FAEE SUAHL 15,000,000 15,000
“Hekzte] & 2AZAM 2el T2 KA
]l 353,000& 123 4,236
OX+g - Hehh| 3,680
-FA2E SUAH 3,680,0002 3,680
202 04d| 4,000 4,000
01 =WOdbI 4,000 4,000
ORA2Y S 4,000,002 4,000
203 QP =AM 4,280 4,280
P EEST 680 680
0012, WSS S I ADIE
40,0003+ 17 680
M FA2HHRFAH 3,600 3,600 0
ORN2Y HRFEHI(FA 17H) 3,600
-&& 2021015t 300,000& =123 3,600
Jl23dl(&=E) 8,120 8,120 0
201 L2 | 3,920 3,920
01 ArR2eltl 3,920 3,920
o=l 3,920
-FA2E SHAHL 3,920,000& 3,920
202 04d| 4,200 4,200
01 =LHO4 b 4,200 4,200
ORAN2E SUAH & 4,200,000& 4,200
J123dI(3t=%) 5,960 5,960 0
201 B2 AL| 2,360 2,360
01 AtR222ltl 2,360 2,360
O=gHtl 2,360
-SEA2E SUAH Y 2,360,000& 2,360




SN ABHEEARA
I BHSEAY|(ABIETAIAA)
SERPIEETTRS PSS (&= aa
i j SIE|
SN - BB SRI(BIH) - NISAY - BES O]t e HlRE2

202 it 3,600 3,600

ETET 3,600 3.600

ORA2Y SAUAL 3,600,000 3,600




